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General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to

one sentence.
(ii) Answers to questions carrying 3 marks may be from 50-75 words.

(iii) Answers to questions carrying 4-5 marks may be about 150

words.
(iv) Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.

1. focitww fotat & @ forelt wer fovie gro focfla wereer o afgeafaat = eer
ATYEAT T SIGATRTaT Jeierd gl ® | i o1 AW 9dTd g EeR 3ocid
i |

The size of assets, the profitability and competitiveness are affected by

one of the financial decisions. Name and state the decision.

2. 99U % 39 R T A TATRC S SUFIHIST ! FH o IcdTal bt FoT o7 d
grafRa 2 |

Name the marketing function which is concerned with informing the

customers about the firm’s products.

3. Tftrerr wd ot S ok gan Svm-fesem €, 3 st e wrgae fafies’
ol Torfud i % fore s aftrg Sem fess gEen @ Hiend Big |
32 fiol forn foF 3 fo7 @ us g wamen qen wm @l TEE eE
fesTgfm deerm st vaer wier o fow spif<m swereit s STEsE S | i
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=X o 7T 381 918 o Wad o1 JuW aa fohe W fora | 3em g @i
37 formfelai st Aie@ i Ffafafoat S e § 2T ot | I8 quied ¥ S
T Toh o1 HaETd FETC 1 L 34T 81 @ Toh of BRI Sl &FeeT ol
9l ITANT L AT, o HIeehrdt i @ia o TR § R s @ 9|

“TFeHe gae fafiee’ o W & dg@™ | Yol qon W et ficd wmgae
fataes’ & am @ 9 fifén qun Ry w1 sggE™ 9o ® 9 | ufeekr A
T ¥ Tveh TR 3T I8 Weard Wt o Fem-tem fafam fore fsmr o
T TRt Tk Bt BeiF Tld fSraeR T S o g foRm s |
e 39Y Gewd g T |

“Tee wrgde fafiee’ =it Tumlt St sAawehdrel s I9Tfad i aTd Hew
! YgTH | 1

Radhika and Vani who are young fashion designers left their job with a

famous fashion designer chain to set-up a company ‘Fashionate Pvt.
Ltd.” They decided to run a boutique during the day and coaching
classes for entrance examination of National Institute of Fashion
Designing in the evening. For the coaching centre they hired the first
floor of a nearby building. Their major expense was money spent on
photocopying of notes for their students. They thought of buying a
photocopier knowing fully that their scale of operations was not

sufficient to make full use of the photocopier.

In the basement of the building of ‘Fashionate Pvt. Ltd.” Praveen and
Ramesh were carrying on a printing and stationery business in the name
of ‘Neo Prints Pvt. Ltd.” Radhika approached Praveen with the proposal
to buy a photocopier jointly which could be used by both of them

without making separate investment, Praveen agreed to this.

Identify the factor affecting fixed capital requirements of ‘Fashionate

Pvt. Ltd.’
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4. 39 WISHH GF T ATH FATST ST HTHa - 3TTch oh STANT ol HTIHIICTAl i

FEET AR |

Name the type of ‘organisational structure’ which promotes efficiency in

utilisation of manpower.

5. ‘U9 M M hl TR 7 || 39 HYT H TgH kAT Ie8 oh 37
3oeTd HITSTT |

‘Management is the process of getting things done.” State the meaning

of the term ‘process’ used in this statement.

6. TIS - T T oRMER § o &1 Tk Uohe TliaT qei ar foh 39 oiad
T fU U Teug WE ®Y U TE 9 I Hohd 9 | 3T 3Eeh! Rend R |
o1 | Tk TeTRad SHTATEAT Wold §U EdHT < I8 Secr@ fora o 3 ag ffeera
1 Toh ISR § Toem™ Yokl ol 331 for ST qen Sieg & ga1ed ol

19 ISR | AU Yehe IqTsd o U ST |

St < S 3usTi<hT SRR ol YT fora 3Het Seei@ it |

Manuj bought a packet of chips from a local shopkeeper and found that
the ingredients given on the label were not legible. He complained about
it to the company. The company sent a written apology stating that they
will make sure that existing packets are withdrawn from the market and

new packets with legible labels are soon made available.

State the consumer right which Manuj exercised.

7. AT IT=q0T o Ueh dcdl o ®U H IAQTcd vl 37 oIq13T |

Give the meaning of ‘responsibility’ as an element of delegation.

8.  hfcdeh BIRAFTTT H Tife Aryes’ sht fieht 1 Ioai ity |

State the role of ‘speed boss’ in functional foremanship.
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10.

IR TR0 o fTe -ThRl T84T 510 ov9e fore ST arel foredl i
T T Ioeig ShITSTT |

State any three functions performed by non-governmental organisations

for consumer protection.

off I5 T80 WO T F AT I | Tk =1 @ ARk W@ A
SR S5d G 9 Fifoh sieh AT &9 8 AT T YA L & o7 | 3Tk
39Tl 1 9NN qed off Fafid €9 9 9g W1 o1 | a9 o1 S 1 AR
T hl EOI LA STAT AT | GSF He ST o o 39 =iwon | “quor S o6
I T & TG | o I Th 6601 BH ok AT 3¢ & o 3T @G h
TR T o | IR T T o1 T G ot Faman TR 38 310 o &
390 H 5 e T fafetsa e o forg e, e € 39 Sima @ @ oft
e foram |

RIS M AT Yo 40% &€ TAT R G o6 T30 1 IR T X 7
FUS B AT | 38 2 FUS T I A AT | I8 1 S T T 480 i &
fau o 1 e T @ W fow | yrd wfasifa wa fafaemm e (fe) g
GicTH 3T ¥ ISdTS Ud HAtd S o 918 39 Al 1 Gara g |
Tl T 1T U TR AT TR

3HITh STfooe § Uil sl 3gd id 8T Wl g Frourfed forel a1 st =l
TEHTHY T 3T Ioai@ shiTo |

Mr. Sanjay Nehra was the Chairman of ‘Taran Bank.” The bank was

earning good profits. Shareholders were happy as the bank was paying
regular dividends. The market price of their shares was also steadily
rising. The bank was about to announce taking over of ‘Vena Bank.’
Mr. Sanjay Nehra knew that the share price of ‘Taran Bank’ would rise
on this announcement. Being a part of the bank, he was not allowed to

buy shares of the bank. He called one of his rich friends Sudhir and
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asked him to invest X 5 crores in shares of his bank promising him the

capital gains.

As expected the share prices went up by 40% and the market price of
Sudhir’s shares was now X 7 crores. He earned a profit of X 2 crores. He
gave X 1 crore to Mr. Sanjay Nehra and kept X 1 crore with himself. On
regular inspection and by conducting enquiries of the brokers involved,
Securities and Exchange Board of India (SEBI) was able to detect this
irregularity. The SEBI imposed a heavy penalty on Mr. Sanjay Nehra.

By quoting the lines from the above para identify and state any two

functions that were performed by SEBI in the above case.

11. = g a9 ‘foehilsh Tretumgsisl o T © 3R T TR o foreghe s
o1 ST FL TE © | TS H 9gd B A= o1 IR AT e el 2 91 T8
| 3T I I g, e reft-onft st wasft o, it R, @ @R
T G o Tt el |
Tad = g foh e | |l YRR o Foia o ok STfeeRR 3|ek T o e 9 |
35k TUdT 310 e H fovam® 781 Wd o | 36k aRumesy R T
FHAR] TFT Th-GHL oh Fa¥I ol GHH &9 H T8 90 91d & | 6k HROT
FHER] GRT A & TAT AT hl T TS & o & ot |
() TE foredl a1 WEOwor Sens Rl UEEH hINT e RO ok

TSI 319 &A1 Rl T a1 ot o1 T oft |
(9) ITUH (1) W H TgaM Y Tedsh el o ThR hl Tk TR a1
Jeoid HIfT|

Mr. Shubhendu Bose is the owner of ‘Bikmac Enterprises’ carrying on

the business of manufacturing various kinds of biscuits. There was a lot
of discontentment in the organisation and the targets were not being met.
He asked his son, Naval, who had recently completed his MBA, to find

out the reason.
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Naval found that all decision making of the enterprise were in the hands
of his father. His father didn’t believe in his employees. As a result both
the employer and the employees were not able to understand each others
messages in the same sense. Thus, the employees were not happy and

targets were not met.

(a) Identify any two communication barriers because of which Bikmac
Enterprises was not able to achieve its target.

(b) State one more barrier each of the types identified in (a) above.

12. “OAR TewseS fofiee’ & fouum etewer- omefly, 3 Uerees - 9 Qe

e THIEH Tl 8eh—SATd 3 Sha Bie ot i o |

FHA % G wRER] Ja-esh J A 99199 Ja9e SAlfd ol o i
3G ITI0Y T o 9% Wi Bied ¥ U8 @iell 9al &l ¥R | I8 glod
BT A 3 gara e for 3uehl srefiey AT tetent ufed sigd & a0 w@
forvaaia ® | afe wergea | 38 I R T S at a7 @t steavas

<M | & RN Yoo 38 ToTC §eAd & T | AR Tcent gred  ohid

fereed’ ° graeh foha Smgie O weumssis farties o foru fomom sreeq
o 93 o1 T o | o st o fTe Uer Sogeh et ol sl H whedt BT |
WA & Th 98 1 FETad | Uty AU T 6l SIa-T Hieh |
fean |
(31) 3Tk Tk UGl hl W o ToAT TR Tretmgsist foAfHes g1 S et oh
HIdl o =17 1T |
(9) IUUH YT T ST & Tedeh Bl o Ueh-TUeh ATH 1 Sooid i I | 3

Ashish, the Marketing Head, Raman, the Assistant Manager and Jyoti,

the Human Resource Manager of ‘Senor Enterprises Ltd.” decided to

leave the company.

The Chief Executive Officer of the company called Jyoti the Human

Resource Manager and requested her to fill up the vacancies before
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leaving the organisation. Informing that her subordinate Miss Alka
Pandit was very competent and trustworthy, Jyoti suggested that if she
could be moved up in the hierarchy, she would do the needful. The Chief
Executive Officer agreed for the same. Miss Alka Pandit contacted
‘Keith Recruiters” who advertised for the post of marketing head for
‘Senor Enterprises Ltd.” They were able to recruit a suitable candidate
for the company.

Raman’s vacancy was filled up by screening the database of unsolicited
applications lying in the office.

(a) Name the internal / external sources of recruitment used by ‘Senor
Enterprises Ltd.’ to fill up the above stated vacancies.

(b) Also state any one merit of each of the above identified source of
recruitment.

13. T i fordi 19 Himnett = gwemsu |

Explain any three limitations of planning.

14. T O A ReRon T A fauum @ ooft, S sl e 3R
TTEhT ! TG Y ST aTet forshar I Sansti o sReT g Ui o | raHt
TSR | Teh AU hrgAT off 3T 3Tcaferes oy AN ot & oft | Tcafems
AT o HRUT FHFHT 4 IHa-3u=d Il W SIH <A1 s R AT | 3Eeh
URUTHEEEY Tl & T1Y HEIT & Tee TS & T qT a1 hl ol |
IO 6T BfT TS B T | TAAH AT & T AATF FH T W 3o
Jee 3Heh o1 | Tafeid g1 | faeeyor ot o8 wan = for fasraiowea gansti
! €I H el TEET SR SRV AT | 37d: HAAH F SEa1 Bt A9 H AT
IR B &l T HH [T THH IR A o € G 99 39
JTUTT, | $Heh TNOTTHEEEY THTS il 38 § HraHt i Tanfd ger 7 |

(31) IUIh afviq fefd § fordurehal g/ o] shl Bfd sl GarA o oI 9g®
TEINUT o AT T A FqTd G SHAT 358 hiteg |

(9) 90T (1) ® qg= TC ATeH i fient off aHEsT |
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A company was marketing ‘water purifiers’ which were very popular
due to their quality and after sales services provided to the customers.
The company was a leading company in the market and earning huge
profits. Because of huge profits the company ignored the after sales
services. As a result its relations with the customers got spoiled and the
image of the company was damaged in the public. Top management
became concerned when the profits for the current quarter fell steeply.
On analysis it was revealed that ignoring the after sales services was its
reason. Therefore the company took all possible measures to protect and
promote its favourable image in the eyes of the public. As a result the
goodwill of the company improved in the society.

(a) Name and state the communication tool used by the marketer in the

above case to improve its image.

(b) Also explain role of the tool as identified in part (a).

15. o fafee’ 7 e & & Use & °, S|l #1 o 95 w1
3uctsy o, war fmfor it ek Hadt Tenfua s w1 foia fomm | 3@ & &
At 3 e fafiee’ & 30 v F1 @rrd foman | St O AT i
7T TRt &t o ToTq et | 9 oft Foter forem for Sl afte W w5,
ITEATS, TSR geaTia et sgd €t gloremd «f 3uersy s e |
et fafiee’ = srafees e 1S e wiew o e | o o wfaarht
FIOH] | I IS Yeush AHe il whal fafaee’ g/ sifsia foeg s
T8 JTCATEI ATH o HRUN T TAT T o feT T |
AT 3 I TR S &) HHaRT ° ST 323l <hl TfY o o fafee
feraati o o SIafeyd Tm—ad 2 | Iash shu=ml sl I8 J1d © foh i fohaeh
i ITErh T SaTeeE € | had ST IaT © foh 3k TTeH H TEIN |
STEAT o HIZIH | € 211 © | Sfch &eial fIfHee’ Tvsiyul oh STTTeIehd T aR
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Tt foemati # yaTiRd 8 AT YoM wdl 7, e gEAieT w3y
TATE BT 2 37 I off i I e S R |

(31) TS oh 39 YehR hl TTATHT ST FFEIN0T bl Tl fammei ® varfed e i
‘et fafiee’ =it gufa Jem w2 |
() 7T (37) T T TC TS 6 TohT o Th 3 ATH 1 3@ HIfT |

(|) W& T gl A1 3@ VY S LIl A Tar i FRifea e
=R 8 |

‘Steelo Ltd.” decided to set-up its steel manufacturing factory in the

backward area of Orissa where very less job opportunities were
available. People of that area welcomed this effort of ‘Steelo Ltd.” To
attract people to work in its factory it also decided to provide many other

facilities like school, hospital, market etc. in the factory premises.

‘Steelo Ltd.” started earning huge profits. Another competing company
asked its production manager ‘Aslam’ to investigate the reasons of

earning huge profits by ‘Steelo Ltd.’

Aslam found that in both the companies there was systematic co-
ordination among the various activities to achieve organisational goals.
Every employee knew who was responsible and accountable to whom.
The only difference was that in his organisation communication took
place only through the scalar chain whereas ‘Steelo Ltd.” was allowing
flow of communication in all the directions as per the requirement which
lead to faster spread of information as well as quick feedback.

(a) Identify the type of organisation which permits ‘Steelo Ltd.’ the flow

of communication in all the directions.

(b) State another advantage of the type of organisation identified in (a)
above.

(c) State any two values which ‘Steelo Ltd.” wanted to communicate to

the society.
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16. i g1 B & § SIS 0T T ST &0 H heldl | IcaTied alept AfHd, St
o Tufa foeme™ &1 fogm =1 w formeff R, 3 e o 31t sfear @ =
foram | fSTEeh 30 9% F3-Fe) ¥ I 394 1 3TN F dTell BRI T
TG T TS I3R! {IRTE T | 30 Teh Ut & R a1 forerm fomam qen
74 fren fagemer gra s fogm #er ® wafdfa fora | 59 s1gg e & fag

o

34 YW JURR § GEATHA foRa T |
I9Uh feurfa | =f<ia saradTiRies YaiaRol o ST ohl UE=I-T Ud JHETSU | 4

A recent rate cut in the interest on loans announced by the Banks

encouraged Amit, a science student of Progressive School to take a loan
from State Bank of India to experiment and develop cars to be powered
by fuel produced from garbage. He developed such a car and exhibited it
in the Science Fair organised by Directorate of Education. He was
awarded first prize for his invention.

Identify and explain the dimensions of business environment discussed

in the above case.

17. ‘1w fafuee’ 1@ el o & § & o @ off | e 7y 3kl dW a
I AT 7T TR Rl TG o1 oh ot fafsm Tsat 1 9w e o | e
ht it o STIHR a1 TATE SIS S AT FHLAT T, STieh 3Heh! S0 TS /i

SR AT Ll off | SO0 T hadt STk THd T o SAfug shvi-shedt 3w
HiEeT T bt Tehet i AT A o foTT AR BT U ot |

Toh TNUTTHETEY, STEfEe TISATcHe: 3e31 shl ITTH o foTy 39 YohR & &Y
TR AT o ST A TS o | R oh &I R AR hl 39k
IR 9d1 =1 | 38 I AT il AR, 39 0T H 3qeh Wi ==l ohl qel
T S A Aifd dea | g Foi foran men o wfas § G afea a
e Tk A1 AT hidl 3R AT o T 1 GGUAN e & a1 UTSehi
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! 1 ST ATel! SRGfd ==l H e | S8 W T 98T 3R I
Tk TeE A 1 Ad1 g0 JA1fedd atieh 9 ahd shiT TR o Tem |

&I SRRl ATTHRT FRI TIh T4 o 1 o dcd ohl [RISarsti &l 3g@
T |

‘Alfa Ltd.” was dealing in renewable energy. To get the business, the

team leader and his team used to travel to different states to give
presentation to their clients. As per the policy of the company, the leader
used to travel by air, whereas his team travelled by road / train. It was
not only time consuming but also at time forced female team members

to travel alone.

As a result, the subordinates were not acting in a desired manner to
achieve organisational goals. The CEO came to know about it. He called
the team leader, discussed the matter with him and decided to change the
travel policy of the company. It was decided that all the members
including the leader would travel together in future and would usefully
utilise the travelling time in discussion with the subordinates about
presentation to be given to the clients. This made a positive impact and
every member of the team started acting in a manner as desired by the
team leader.

State the features of the element of the function of management used by

the CEO.

18. Y-y o Tl o Hewd o foheel =R forgati &1 Tmemsy |

Explain any four points of importance of principles of management.

19. forfia oTSIR & sl o1 3g@ A |

State the functions of financial market.
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20. 3TV TSTG hl Uk TEULE FHOH] H HRd 1§ | e et fl 9 38 gan
oT | STel 3ok Teh ohl i<l 1 T8 A Il <l foh 38 ST 8 3R 35k wieeie i
et off sigd W 81 718 ? | 37 3 1T H Wl SHLET T q1 SRl A
39! Th T hl Tt <1 | 39 Teh @reft 9 3ueh Tl “oft IR
gHeh! U foTiad F=1 &1 | ot AR | qd & Eed o 9eft et
3R] o TIC Th-3M S ol M1 A §C T foiftga =1 a1 | 519 g
Teeh i 39 IS H qaT =el al 38 REOH] IHER k16T e qe
JTHITH o & sl EHTE T e o |

(37) STh =88 ¥ 3Igd d U UG T ST TrNT §
Trafea afhal ot 3R ifs |

() SFA=Teh R0 oAl feheel 1 forivaratl 1 et ey |

(|) 3Tk uifefa o awTst ot Trifva fore S aTel foredl 31 gedt ot 9eam
i | 5

Arun is working in a multinational company in Gurgaon. He was

running temperature for the last many days. When his blood was tested,
he was found positive for dengue with a very low platelet count.
Therefore, he was admitted in the hospital and a blood transfusion was
advised by the doctors. One of his colleagues sent a text message about
it to his immediate superior ‘Mr. Narain’. ‘Mr. Narain’ in turn sent a text
message to the employees of the organisation requesting them to donate
blood for Arun. When the General Manager came to know about it, he
ordered for fumigation in the company premises and cleanliness of the
surroundings.
(a) From the above para quote lines that indicate formal and informal
communication.
(b) State any two features of informal communication.

(c) Identify any two values that are being communicated to the society
in the above case.

66/1/2 13 [P.T.O.



21. 399 g4 7Y J @ SEifeR 7§ o feft ot it | 35 38 9w 9@ =,
IR J a1 S aTel! Teh a1 H i ToRaT | 98 39 hFaHT § @1 el off
R 364 ¥g Tl foran fo a1 3ot werm ot 3ot wer ok @ drenfisht
TERHUT SIS TTTUG RN | 304 3539 U9 @1ed Hiia frg o 3= W &
Y R -ASTE TE |
39T Tk 3ewd Yo 9 ¢ fafa=nfsma ufer ww 10% < il o ot | 9=
Fota foran man fo s ara 99 o, afesart, aaT saie € TE it 3UR
T A ik FHA FMH T fohaml 8 & &l S | 384 98 off Fofa
foran for @ ht G o HIEIH & ITATGT o T[99 ok ToTq |ft Trarwarsh =won
1 T ToRaT ST | 36 ITATEH Ta-4eh o ®9 H HIg- ol gk foha S
3caTed TeRaneti et fefed st o Feifa wient ot oft Fofa formm | #igm
Y WA HF W I ST STl FHETHAT ht TEAT h IR i arett ferawor
o I TR | 3T STt AR o fTe Ay < ige ol &Emgar Tty Sl
% I A&l oF aR H ot giua o | e 09 W R R 9 2,
TEA qAT TH T 981 W X 100 Ferfe o ol hl =reor off i 75 |

3HIh Tg=se ¥ Ufthal sl 3gd i Y 380 afiq fafers AsHis o T

ol T hITSTT A1 37 FHEST |
Two years ago Madhu completed her degree in food technology. She

worked for sometime in a company manufacturing chutneys, pickles and
murabbas. She was not happy in the company and decided to have her
own organic food processing unit for the same. She set the objectives
and the targets and formulated action plan to achieve the same.

One of her objective was to earn 10% profit on the amount invested in
the first year. It was decided that raw materials like fruits, vegetables,
spices etc. will be purchased on three months credit from farmers
cultivating organic crops only. She also decided to follow the steps
required for marketing of the products through her own outlets. She

appointed Mohan as a Production Manager who decides the exact
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manner in which the production activities are to be carried out. Mohan
also prepared a statement showing the number of workers that will be
required in the factory throughout the year. Madhu informed Mohan
about her sales target for different products, areawise for the
forthcoming quarter. While working on the production table a penalty of
X 100 per day for not wearing the caps, gloves and apron was

announced.
Quoting lines from the above para identify and explain the different

types of plans discussed.

22. Tra=ror gfsean & <Ron skt gHEsy| 5

Explain the steps in the controlling process.

23, ‘amn fafiee’ wew ouersa fmfoft st 2 | sweht 7w dSft ¥ 60 @ R |
et o g9l Ufd 371 311 % 0.50 off | fafaeferon & fog st =t T 40
ARG AR Gt shl ATawaehdn off | 36k fTT &eoHt 5 10% Fomas fifia
ek ford TeRizd foram | <o) o # ot 3 faf=itsa gt T 8 @ra e

ST ToRaT | 38 40% ot & T T ToRaT |

(31) 3g@ hifre for fafadiero w sterenfa 1 ufd o1 3@ @ @ gan
YT BT TS | ST U] i T8 T H 30T |

() @ & gHeh Yol @ % 9 & 9 H O] §RI RO o 10 & et |

foreel 1 prent o1 3g@ oft FifSTw | 6
‘Viyo Ltd.’ is a company manufacturing textiles. It has a share capital of
X 60 lakhs. The earning per share in the previous year was X 0.50. For
diversification, the company requires additional capital of I 40 lakhs.
The company raised funds by issuing 10% debentures for the same.
During the current year the company earned profit of ¥ 8 lakhs on

capital employed. It paid tax @ 40%.
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24.

25.

(a) State whether the shareholders gained or lost, in respect of earning

per share on diversification. Show your calculations clearly.

(b) Also, state any three factors that favour the issue of debentures by

the company as part of its capital structure.

ST 3 T v Y g A 2HTel Uth Y U Sidet Tl | Side W dt

TS g TY e oft | TR IUAI ik 98 SR ' TS | IURRT T

Afufm & =il 3u e wRe § ues anfrent o i 3 38 Ted e

TS |

(31) 3uth feurfd W 39 wewqUl Ued] Wl ey el fodumeRdl gra
CERNEIETRIE

() ITUTH (1) H &= TC 9ee] o HAT 1 Had H Ui shifolg |

Ashima purchased a bottle of tomato-sauce from the local grocery shop.
The information provided on the bottle was not clear. She fell sick on
consuming it. She filed a case in the District Forum under Consumer

Protection Act and got the relief.

(a) Identify the important aspect neglected by the marketer in the above

casce.

(b) Explain briefly the functions of the aspect identified in (a) above.

a1 <hl foregl = foreraraTt vl gwesu |

Explain any four characterics of management.
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